Chapter 22: An Age of Nationalism and Realism (1850-1871)

Lesson 4: Industrialization and the Marxist Response
Opening the Lesson:

1. What is socialism?

2. How does socialism and communism differ?

3. Is communism an extension of socialism?

Developing the Lesson:

I. Industrialization on the Continent.
II. Karl Marx (1818-1883).
A. His Background.

1. Came from a German middle class family.

2. Attained his doctorate in philosophy and history.

3. Was a denied a teaching position because of his radical views.

4. Tried journalism but was exiled from Germany and France.

5. He moved socialism to communism.

B. Marx Ideology.

1. His theory of revolutionary change was based on Hegel’s concept of the dialectic: the conflict between the existing order (thesis); the challenge to it (antithesis); resulting hew order (synthesis).

2. Economic Determinism (economic interpretation of history).

a. Economic interests are at the root of the most important human actions.

b. Societies are formed around economic interests.

c. Economic conditions determine the character of a society, its government, its religion, its social classes - it is the existence of social classes that leads to class struggle.

3. Class Struggle.

a. Societies are divided into the haves and have-nots.

1) The haves are the owners of the factories, etc.

2) The have-nots are the laborers.

3) The haves are interested in maintaining the status quo while the have-nots have much to gain from changes.

b. Marx applied Hegel’s dialectic theory as he outlined what he considered to be the course of historical development; for example-

1) In the Middle-Ages the aristocracy got their wealth from the land – the thesis.

2) The aristocracy was challenged by the rising middle class, the bourgeoisie, who got their wealth from commerce and industry – the antithesis.

3) This led to the revolutions resulting in a new order – the synthesis – dominated by the bourgeois.

4) The new order – the synthesis – becomes the new thesis challenged by the new antithesis – the proletariat.

5) The proletariat would rise up, destroy the bourgeoisie.

6) Following this revolution the leaders would establish a temporary dictatorship whose task would be to reorganize the economy to serve the proletariat and re-educate the masses so they would work to serve the interests of society rather than their own.

7) In this new order there would be only one class; in effect there would be no classes and with no classes there would be no exploitation of one group by another – peace, etc. would reign.

4. Surplus Value.

a. According to this, workers who are paid only subsistence wages create, by their work, value in excess of their wages.

b. The excess is the surplus value and the illegitimate source of profit for the capitalist.

5. Inevitability of Communism.

a. Capitalists are locked in a continuous competitive struggle with one another.

b. This struggle forces them to continually introduce new, costly machines while keeping wages down.

c. As time goes on, fewer and fewer capitalists are able to continue the struggle and workers continue to suffer.

d. The capitalist system is characterized by periods of prosperity and depression.

e. The result will produce such misery that the proletariat will rise up and destroy the system.

III. Engels and The Communist Manifesto.
A. Who was Friedrich Eglels?

B. The Communist Manifesto.

1. Published in 1848 Engels helped write it.

2. It began with “A specter is haunting Europe – the specter of Communism” and ended with “Working men of all countries, unite.”

3. Marx proclaimed that following the revolution a classless society would exist and the state would wither away but that has never been fully explained.

C. What are the Weaknesses of the Communist Philosophy?

1. The worst abuses of the I.R. were eliminated.

2. The working class has assumed a middle class outlook.

3. He failed to take into account the strength of nationalism.

IV. Marxism After 1848.
A. Das Kapital.
1. Published in 1867.

2. In two volumes Marx spelled out his theory of surplus value.

B. Splits in the Communist Movement.

1. Orthodox Marxists forbid any cooperation with socialists or capitalists.

2. Revisionist Marxists believe in cooperation rather than class struggle.

a. Despite Marx’ predictions, the condition of the workers was improving and capitalism showed no signs of collapsing.

b. Revisionists began emphasizing reform within the context of the system rather than revolution; socialism could be achieved through the democratic process.

Concluding the Lesson:
1. Lenin would alter Marxist philosophy.

2. Anarchism – the extreme of ideologies.

a. Denounced capitalism for its exploitation.

b. Favored the abolition of private property.

c. Demanded destruction of the state.

d. Were strong supporters of violence and revolution.

1) Marxists thought a revolution was inevitable and would eventually occur.

2) Anarchists clearly set out to cause one through terrorism and assassinations.

